Review of Molar Mass

e Molar mass (M) is the mass of 1 mole of chemical
5 In other words, the mass of 6.022x102% molecules of a particular chemical

e Molar mass is used to relate the number of moles of a particular chemical to the
mass of that chemical through the following equation

m= Mr\ ¥ Memor 2e ),

where m is the mass of a chemical (g)
M is the molar mass of a chemical (g/mol)
n is the moles (mol)

EXAMPLES:
1. Calculate the number of moles in 6.55 g of NaHCOss).
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2. What is the mass of 0.155 mol of calcium phosphate?
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3. How many moles are in 0.558 kg of dinitrogen dioxide?
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**Now try Practice Problem #1***
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Practice Problems
1. Complete the following chart.

Name Formula Molar Mass (g/mol) Mass (g) Moles (mol)
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